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Year 7 — Application of Number
Solving problems with addition

By the end of this unit you should be able to:
Understand properties of addtion/ subtraction

Use mental strateges for addtion/subtraction

Use. formal methods of addtion/Subtraction for rntegers
Use formal methods of addition/Subtraction for decimas
Solve problems in context of penmeter

Solve problems with finance, tables and tmetdbles

Want to know more?
Scan the QR code to
visit the curriculum
overview for Year 7

Matbhs, including topic

summaries, key
words, and books that
you may want to read
in your own time

& subtraction

Commutative: changing the. order of the operations does not change the result
Ossociative: when you add or multisly you can do so regardeess of how the numbers are. grouped
Inverse: the. operation that undoes what. was done by the. previous operation (The opposite. operation)
Placehokder: a number that oceupies a posttion to gue. vale
Perimeter: the dstance/ length around a 2D object
Polygon: a 2D shape. made with straight Ines
Balarce: in financial questions — the amount of money in a bank accourt

Solve. problems wiith frequency trees
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Solve problems with bar charts and Ine. charts |

Credit: money that goes into a bark account
| Debit: meney that leaves a bank account
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| Frequency trees Bar and ine charts
| 60 paopki visted the. z00 one. Saturdag How Y8 travel to school Use addttion/ subtraction methods to
| - extract information from bar charts

| 26 of them vere acilts 13 of the aduls
l favourite animal was an elephart. 24 of
the children’s favourite animal was an

elephant

The overal totdl
60 people’

0 frequency tree is made up from part-whole modeks
One piece of information keads to another
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Probabilties or stalements can
be. taken from the completed
trees
eg 34 children visited the. zco

eq Difference between the rumber of
students who waked and tock the bus

Wak frequency — bus frequency

Walk Bus | \ch:\e

When descrioing change,s or making predictions
Extract information from your data source

Make comparisons of dfference or sum of vales
Put into the context of the scenario



